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(c) (fertiliser S)

has most nitrogen for good growth

if no other marks awarded allow 1 mark for (fertiliser s) has more

minerals than compost

1

(and) has high(est) potassium content for stronger roots

1

(it is also) cheaper than fertiliser T

1

(however) has less phosphate than fertiliser T (although more than compost) so flowers /

fruit perhaps less important for the gardener

1

[8]
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(ii) corresponding explanation:

ignore accuracy

e.g. includes roots / includes whole plant

or

leaves vary in size

or

(length / mass / surface area given in c(i)) is a continuous variable

1

[5]
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(c)  either:

less (sugars for) respiration

1

(so) less energy released

1

or

less amino acids made (1)

(so) less protein produced or less protein synthesis (1)

or

less cellulose made (1)

(so) weaker cell walls (1)
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(g)  C

if any other letter given then no marks for the question 1

(fungi / spores) blown by / in direction of the wind

allow black spot / disease is blown by / in direction of

the wind

or

it’s the closest plant (to A)

do not accept reference to bacteria / viruses / pollen

being blown

1
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